1/odo/dp_ [GeV]]

Ratio to ATLAS

T

7000 GeV pp Z (Drell-Yan)
_I I | I I I T T 11 | I I I T T 11 I I ]
= pT(Z) (muon channel, dressed) —=
107 & =
107 - =
107 = =
107* = =
— m ATLAS =
—  --3-- Herwig 7.2.0 default .
s | —©— MadGraph5 2.7.2.atlas3 lo |
10 = —a— Pythia 8.212 default =
- ¢ Sherpa 2.1.0 default —
10° e =
= | | NI | | ] | =
= ' ' L ' ' L ' '
2 & =
B - g _
1 PO — — e SF WY ) TEENC % S S
0.5
| L L

2
1 10 pT(lrr(%umu) [GeV]

Rivet 3.1.0, = 932k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


